

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

#### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLL 3962Z

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT WINDSCREEN GLASS	NOT NECESSARY	2,200.00	-
1	FRONT WINDSCREEN GLASS MOULDING	NOT NECESSARY	150.00	-
2	FRONT L-R WINDSCREEN RUBBER @\$450.00	O/S TWISTED	900.00	165.00
1	FRONT WIPER PANEL	TO REPAIR SEE LABOUR	1,050.00	-
1	FRONT WIPER PANEL INSULATOR	NOT NECESSARY	350.00	-
1	FRONT WIPER PANEL GARNISH	NOT NECESSARY	750.00	-
1	SET FRONT WIPER LINKAGE	NOT NECESSARY	750.00	-
1	FRONT WIPER MOTOR	NOT NECESSARY	1,050.00	-
2	FRONT L-R WIPER ARM @\$120.00	NOT NECESSARY	240.00	-
1	FRONT BUMPER	MISSING	1,200.00	745.20
1	FRONT BUMPER REINFORCEMENT	DISTORTED	850.00	313.00
1	FRONT BUMPER GRILLE	MISSING	450.00	98.00
2	FRONT BUMPER FOG LAMP L-R @\$414.00	MISSING	828.00	530.00
2	FRONT L-R BUMPER FOG LAMP COVER @\$169.00	MISSING	338.00	64.00
2	FRONT BUMPER SIDE RETAINERS L-R @\$90.00	BENT	180.00	90.00
2	FRONT L-R HEADLAMP @\$1150.00	HOLDER CRACKED	2,300.00	2,300.00
2	FRONT L-R HEADLAMP LOWER BRACKET @\$220.00	NOT NECESSARY	440.00	-
2	SET FRONT L-R HEADLAMP WIRE HARNESS @\$550.00	TO REPAIR SEE LABOUR	1,100.00	-
2	FRONT L-R FENDER @\$850.00	N/S DENTED / O/S TO REPAIR SEE LABOUR	1,700.00	699.00
2	FRONT L-R FENDER INNER SHIELD @\$350.00	TORN	700.00	288.00
2	FRONT L-R FENDER INNER PANEL @\$590.00	TO REPAIR SEE LABOUR	1,180.00	-
2	FRONT L-R FENDER INNER GARNISH @\$398.00	NO SUCH PARTS	796.00	-
1	FRONT BONNET	BUCKLED	1,150.00	901.00
2	FRONT BONNET HINGE L-R @\$125.00	BENT	250.00	130.00
1	FRONT BONNET LOCK	TWISTED	350.00	109.00
1	FRONT BONNET SEAL	NOT FITTED	95.00	-
1	FRONT BONNET INSULATOR	DISTORTED	350.00	182.00
1	FRONT SEAT BELT L/H	NOT NECESSARY	750.00	-

Report Ref No. CS/UOI21000961/Utf3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRONT CHASSIS CROSS MEMBER	NOT NECESSARY	2,250.00	-
1	FRONT CHASSIS FRAME INNER	TO REPAIR SEE LABOUR	1,850.00	-
1	FRONT CHASSIS FRAME OUTER	TO REPAIR SEE LABOUR	1,855.00	-
1	FRONT DASH BOARD PANEL	NOT NECESSARY	1,950.00	-
1	FRONT AIR INTAKE ASSY MANIFOLD	CRACKED	1,350.00	1,250.00
1	CONDENSER	DISTORTED	773.00	773.00
1	RADIATOR ASSY	DISTORTED	1,788.00	705.00
1	RADIATOR TOP FRAME BRACKET	NOT NECESSARY	250.00	-
2	RADIATOR TOP MOUNTING @\$25.00	NOT NECESSARY	50.00	-
1	RADIATOR TOP HOSE	NOT NECESSARY	75.00	-
1	RADIATOR BOTTOM HOSE	NOT NECESSARY	97.00	-
1	RADIATOR FAN COWLING }	CRACKED	480.00	453.00
1	RADIATOR FAN BLADE }		250.00	-
1	RADIATOR FAN MOTOR }		450.00	-
1	RADIATOR SPARE TANK	DISTORTED	550.00	62.00
1	RADIATOR SPARE TANK HOSE	NOT NECESSARY	95.00	-
1	RADIATOR LOWER MEMBER	NOT NECESSARY	750.00	-
2	RADIATOR LOWER MOUNTING @\$25.50	TWISTED	51.00	40.00
1	BATTERY TRAY	NOT NECESSARY	100.00	-
1	BATTERY BRACKET	NOT NECESSARY	88.00	-
1	EXHAUST MANIFOLD	NOT NECESSARY	2,200.00	-
1	EXHAUST MANIFOLD COVER	NO SUCH PARTS	250.00	-
1	EXHAUST MANIFOLD SENSOR	NOT NECESSARY	450.00	-
1	EXHAUST PIPE FRONT SECTION	NOT NECESSARY	950.00	-
2	ENGINE MOUNTING L-R @\$350.00	NOT NECESSARY	700.00	-
1	ENGINE MOUNTING CENTRE	NOT NECESSARY	250.00	-
1	ENGINE MOUNTING BRACKET O/S	CRACKED	330.00	266.00
1	ENGINE MOUNTING REAR	NOT NECESSARY	340.00	-
1	MAIN FUSE BOX ASSY	NOT NECESSARY	1,230.00	-
1	DASH BOARD	NOT NECESSARY	2,500.00	-
2	HORN @\$95.00	SERVICEABLE	190.00	-

Report Ref No. CS/UOI21000961/Utf3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	TOP RH ROOF ROCKER PANEL	TO REPAIR SEE LABOUR	3,500.00	-
1	TOP ROOF PANEL	TO REPAIR SEE LABOUR	5,000.00	-
1	TOP ROOF PANEL INNER LINING	WARPED	2,500.00	1,320.00
1	TIMING COVER (ADDITIONAL)	CRACKED	350.00	350.00
1	STARTER MOTOR (ADDITIONAL)	BROKEN	1,750.00	1,125.00
1	ALTERNATOR (ADDITIONAL)	DENTED / JAMMED	1,680.00	1,098.00
1	AIR CLEANER BOX (ADDITIONAL)	CRACKED	450.00	385.00
	LESS 10% DISCOUNT		-6,216.90	-1,444.12
			55,952.10	12,997.08
	SPECIAL NETT ITEMS			
20	FRONT FENDER INNER SHIELD CLIPS @\$4.50 (SN)	NECESSARY	90.00	40.00
20	FRONT BUMPER CLIP @\$4.50 (SN)	NECESSARY	90.00	40.00
20	FRONT GRILLE CLIP @\$4.50 (SN)	NOT NECESSARY	90.00	-
20	FRONT BONNET INSULATOR CLIP @\$5.00 (SN)	NECESSARY	100.00	40.00
1	BATTERY (SN)	NOT NECESSARY	350.00	-
1	TIN COOLANT (SN)	NECESSARY	60.00	20.00
1	TIN AIRCON OIL (SN)	NOT NECESSARY	60.00	-
			840.00	140.00
	<u>LABOUR</u>			
	TOWING CHARGES.		250.00	50.00
	TO REMOVE AND REFIX ROOF TOP PANEL LINING.		1,800.00	150.00
	TO RESPRAY UNDERCOATING.	NOT INSURED	450.00	-
	TO REMOVE, REFIX DASHBOARD.	NOT NECESSARY	450.00	-
	TO REMOVE ENGINE, TO ASSIST REPAIR FOR CHASSIS ALIGNMENT & UNDERCARRIAGE.		850.00	500.00
	TO REMOVE, REFIX INTERIOR TRIMS TO ASSIST REPAIR.	NOT NECESSARY	250.00	-
	TO RESPRAY PAINTING AND ETC.		2,000.00	950.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	PANEL BEATING, ALIGNMENT, REMOVE AND REPLACING ABOVE PARTS. INCLUSIVE OF THE REPAIR OF FRONT WIPER PANEL, FRONT L-R HEADLAMP WIRE HARNESS, FRONT O/S FENDER, FRONT L-R FENDER INNER PANEL, FRONT CHASSIS FRAME INNER, FRONT CHASSIS FRAME OUTER, TOP RH ROOF ROCKER PANEL AND TOP ROOF PANEL.		2,500.00	1,500.00
			8,550.00	3,150.00
	GRAND TOTAL		65,342.10	16,287.08

RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION)		13,000.00
LESS EXCESS		-1,500.00
NETT LIABILITY		11,500.00

Report Ref No. CS/UOI21000961/Utf3e2

CHUA KANG SENG

**Licensed Appraiser**